[image: image1.png]52
2 1525_ Sein2S = (342

15 w525
NRTEREEY:

A%y 6¥(3)-5()

AYK: ERLE)






[image: image2.png]21

DYy = T lom o
e
6-3
-
= 033 4]%5”?
\, -7 Yo

\{Ff) - \f,,3 +lay By,

0 (i 24
A
[

4 -,






[image: image3.png]25 hae 4o \(fz‘

onvect
’ / )
. ¥ 12 Fe =360
Ax(b, 12F4 7% J

D= 3 6lom

ar\\j ok @ Y
=49 b i [\l.,sm«c Jrrechon
V=7

Voasts
(j: O \lf) :\/“‘g *Z%&KA

Oy=- 0%, 0= (\{mnqgfzt—m} (3;“4>
W 30

- )
\, - % 12\%





[image: image4.png]p37§
a2 DY = y@ agt

Do —50= 5 (o)
s = t

B W=7 Aveat (Tudbd)
o=\, = 182 V= Lat
S

A\/r ok
\‘FJ ! \IEJ/O =-1o @IQ
\/: = -3

Deaas [ wecors Ve 61 (gu,)
i =1, ?Lzrvp\zu, Yoy &= 4035

S





